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PROGRAM wrap_problem (input,output) ;

CONST

maxn=11;

TYPE
point=RECORD
x,y:longint;
END;

VAR
p:ARRAY[1..maxn] OF point;
i,n,r;:integer;
datafile : text;
filename :string;

length_sum ;real;

FUNCTION len{p1,p2:point) :integer;
BEGIN
lens=sqr(pl. x-p2. x)+sqrpl. y-p2. y);
END;

FUNCTION thete(pl,p2:point) :real;
CONST

maxslope=1000;
VAR



dx,dy:real;
r:real;
BEGIN
dx =p2. x-pl. x;
dy=p2.y-pl.y;
IF dx<<>0
THEN r=2+dy/(dx * maxslope)
ELSE
IF dy>0
THEN r=1
ELSE r=3;
IF dx>0 THEN
IF dy>=0
THEN r:=r-2
ELSE r=r-+2;
thete :=r;

END;

PROCEDURE wrap(\;ar k:integer) ;
VAR
i,]:integer;
t:point;
th,thl,thmin:real;
BEGIN
i=1;
t=p[1];
FOR i+==2 TO n DO
IF pli]. y<t.y THEN
BEGIN
te=p[i];
J=is
END; {then}
k=0;
pln+1]=p[jl;
thmin =0;
REPEAT
k=k+41;
t=p[k];
plkJ=pl[il;
plil=t;
th=thmin;
thmin =20;

FOR i=k-+1 TO n+1 DO



BEGIN
this=thete (p[kJ,p[i]);
IF (thl<<thmin) OR ((thl=thmin) AND (en(p[k],p[i]>>len(p[k],p[i1))»)
THEN BEGIN
1=1i;
thmin :=thl;
END
END;
UNTIL j=n—+1;
END;

BE GIN
writeln;
write('filename : ');
readln (filename) ;
assign(datafile,filename) ;
reset (datafile);
readln (datafile,n);
FOR i=1 TO n DO

readin(datafile,p[i]. x,p[i]. y);

close (datafile) ;
wrap (r);
writeln (' the answer is: ');
length_sum=0;
FOR i:=1 TO r DO

BEGIN
writeln(p[1]. x:6,plil. y:6);
IF G=<kD
THEN
length_sum ==length_sum+sqrt (len(p[iJ,p[i+1]))
ELSE
length_sum:=length _sum+sqrt(en(p[i].p[1]D);
END;
writeln'length=',length_sum:8.:2);
END.
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PROGRAM wrap_problem (input ,output);

CONST
maxn=11; {§ ) REHEH)

TYPE
point=RECORD
x,y: longint; {AptRA R )
END;
VAR



p:ARRAY[1..maxn] OF point; =%y
i,n,r:integer; {(BYER, LB OEILEE)
datafile :;text; {XHTE)

filename ;string; {3C{F4 )

length_sum:real; {B#BEK)

FUNCTION len(pl,p2:point):real; (3R pl fI& p2 [MEBM TS )
BEGIN

len=sqr{pl. x—p2. x)+sqr(pl.y—p2.y);
END; {len}

FUNCTION thete(p1,p2:point):real;  {H+EHIERE<pl .p2> K%k
CONST
maxslope=3000;  {{TBUHEM a] B KRB ()
VAR
dx,dy:real;  {pl 5 p2 [6] x 45 y BFRHW R, ERE 5K
r:real;
BEGIN
dx=p2.x—pl. x;
dy>=p2.y—pl.y;
IF dx<{>0
THEN
r=2+dy/(dx * maxslope)
ELSE
IF dy>0
THEN r:=1
ELSE r:=3;
IF dx>0
THEN
IFdy>=0
THEN re=r—2
ELSE ri=r+2;
thete:=r;

END; {thete)

PROCEDURE wrap(VAR k:integer); (B O R TR S 38 B g S 8 k)
VAR

Lyj:integer; {SiEHB )

t:point; {($BIA)

th ,thl,thmin:real;

CE—R O RRM IR LATHES M55 HaT R/ IR )
BEGIN

(B R PO GBI TAE £ M I x R47 BNy — MR FHBA pln+17)

i=1;

t=p[1];



FOR i=2 TO n DO
IF (p[il. y<t.y) OR ((p[il.y=t.y) AND (p[i]. x<<t.x)) THEN
BEGIN :
t=p[i];
j=i;
END; {then}
k=0; (MBS HRHENT)
pln+1]=p[j];
thmin=0; {MBTH/NYRERMER B
REPEAT
ke=k+1;
t=plk]; {(pj 5 pk #e . fERGEUM T —ITHE)
plk]=p[j];
plil=t;
th+=thmin;
thmin:=4;
FOR i=k+1 TO n+1D0 {({RKWEH— 640 & pk+1 ...pn+1}
BEGIN
thl=thete(p[k1,p(i1); {3+ <pk,pi>> LML R
IF ((thl<<thmin) OR ((thl=thmin) AND den(p[k],p[i])>
len(p[k],p[j1)))) AND ((th<(2) OR (thi>th)) THEN
BEGIN
{ %<pk,pi>&§bﬁﬁ3ﬁEﬁifﬁd\<%¥?%‘£*ﬂﬁbﬁ%ﬁf§&9ﬁ%@<pkvpi>BfJi€I§¥st
1O B 20 B R 0 0 12 i 188, 00 <<k pi >4 3 Y 40 B9 B 30 )
1551
thmin =thl;
END; {then}
END; ({for}
UNTIL j=n+1; (% Z:&E KL
END; {wrap)

BEGIN
writeln ;
write('filename.'); (A X4 8]
readln (filename ) ;
assign (datafile, filename) ; (X & B 534 REE)
reset(datafile); {CHiEnEs)
readin(datafile,n);  {E AW HIES)
FORi=1TOnDO (@ABEMMBE)
readln (datafile,p[i]. x,p[i]. y);
close (datafile) ;

wrap(r)s (Y A0 TR 5 P4 b A TR A 8K - )

writeln(’the answer is ; ’);



